INVOICE			
Invoice No.	Dated		
24-25-P002	3/06/2024		
Supplier's Ref.	Other Reference(s)		
01/05/2024 TO 31/05/2024			
	Invoice No. 24-25-P002 Supplier's Ref.	Invoice No. Dated	

S.No	Particulars	Quantity Rs	Rate %	Amount
1	10'S & 20'S & 50'S & 100 'S Old note Money Exchange	3100000	1%	31000.00
2	COINS 1 & 2 & 5'S Exchange	44000	7%	3080.00
	Total			₹ 34080.00

(Manikandan . 5)

Chedred of very red.

B. HEBBAN

MAY-2024 RETURN RECEIVED Dore 500 x 400 - 350000 0als 24 (00 x 1200 - 120000 50000 50 × 1000 -20 x 6000 120000 80000 10 x 6000 31000 350000 04 5 34 100 x 1100 110000 000016 - 25000 00/192 TA 20 x 5000 100000 10 x 4000 A0000 250000 COCOLL 09/06/04 100x 1000 = 100,000 - 500x620=310,000 50x 1000 50,000 20x 6000 120,000 N86761 10x 3000 30,000 510 13:10hrs Coins 10,000 310,000 310,000 10/5/24 100×400 500 x 530 - 2.65,000/ 70,000 Soxyon 20.000 Dy R 601477 [0]5/74 20 45000 100.00 10 x 6000/ 60.000 Couns. 15.000/ 2.65.000 2.68.000/classmate PAGE

Dozi_	Recent	PETURN PATE	Sant [PA VANDOR
olola	イベス 1200 = 120,009 プベメ 1000 = 50,000 グロメ 5000 = 100,000 JO X 5000 = 50,000	-750 x 600 - 300 per	25/24	16:00 h 16:40
	300,000	700,000		
6 (CP)	100 × 1100 = 110,000 50 × 1000 = 200,000 00 × 6000 = 100,000 10 × 10,000 = 15000 0000 = 15000	500 × 730 - 365000 / 365,000	2. Janto (0) ha	- 12 PV
8 5 24	100 × 1100 = 110000 50 × 1000 = 50000 20 × \$000 = 140000 10 × 5000 = 50000 3,50,000	500 x 700 = 250pcc	- 18/6 /2/x	Cong T. 51PV
المام	\$0 × 1,00 = 20,000 20 × 3000 = 60,000 10 × 7000 = 70,000	- \$00×, \$00 . 1\$0,000 1 \$50,000	20/8/24	2008727 F FOSSON 4-08-PM
	100 × 400 = 40,000. 20 × 6000 = 1,20,000. 10 × 4000 = 40,000. COLAX = 4000.	500×408 -2,04,000	1764	1.5 J. F. S. 2.28 P. 12
	classmate			PAGE TO

PETURN - DATE RECEIVED 27 | 5 Du |mx |200 - |.20.000 50 x 1000 = 50,000 e 500×700 = 350000 20x 3000 = 60 000 10× 12000 = 120 000/ 3.50.000 35000 70 × 600 = 30,000 - 500 × 500 = 2,50,000 20 × 6000 = 1,20,000 - 1000 × 1000 OH 10 × 10,000 = 100,000 / 2,50,000 2,50,000 NO TO ST 05 31.00.000/ - 11/100/ 31.11/100/ PAIPERS: Colos 10